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OMSAHAZUI AlEINH 10,000,000& *23| 20,000
O A2 X3tE XA ALH(3.3ha)
645,000,000& * 14! 645,000
03 A& 20HH| 4,064 0 4,064
OadHAAEI =B ELHAIY AE2UHI
645,000,000& *0.63% 4,064
SN EE 97,127 91,394 5,733
AR AMA=RHS 97,127 91,394 5,733
SEXMEH OIS 2A2A 97,127 91,394 5,733
101 @121l 46,147 35,414 10,733
03 2INHA22XNHE %= 24,679 19,268 5,411
Oefxperat zZte| 24,679
A= 68,7203 1 250 17,180
— F=XE 68,720& 1«53 3,643
— ARG 68,720& x1H x 12 825
—AEE = 21,647,000& *14% 3,031
04 JIZtHIZ22XNHEE 21,468 16, 146 5,322
Ozl 21,468
—-JlE2a 68,7203 x1H »220 15,119
— =54 68,720& 1«44 3,024
PN 68,720& 12«10 688
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2A: AEH=sH
HE: SANES
el S E AT CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— 8282 18,829,000 *14% 2,637
201 et Y| 30,980 30,980 0
01 AP 2t 2] d| 15,980 15,980 0
OAdxzst2t ARE R 6,000
— MAIE 2&4=x ol 5,000 *4= %2002 4,000
— &Al T P 20,000& *100& 2,000
O&FZD| X2 60,000 x12& 720
ORo1AY 29H| 350,000& x12& 4,200
O 83 =2 380,000& x12& 4,560
OFMARE 22 500,000 1Al 500
02 32%H| 15,000 15,000 0
Odszle=2 50,000 x12& 600
OH&EIIR2 1,200,000 x12& 14,400
401 Al HI L 2 THHI 20,000 25,000 25,000
01 Al& b 20,000 25,000 A5,000
OAN&E X2 4,000,000& *53] 20,000
SEXN T AISE 23 499,038 390,616 108,422
= 10,000
J| 2,200
= 486,838
sEXEoerxrs 80,443 85,734 N5,291
= 10,000
Dl 2,200
= 68,243
SEHEA 2 58,243 47,734 10,509
101 e1214| 49,043 38,534 10,509
03 2INHAZ2ZXNHE = 49,043 38,534 10,509
O=Ss2d8A 2Y 49,043
A=) 68,720 x2H «246! 33,811
— =X E 68,720& 2 x52 7,147
— X 68,720 2 15 2,062
— 402 43,017,000 *14% 6,023
201 et d| 9,200 9,200 0
01 AF 22| H| 4,200 4,200 0
OSEHEA ANERY 350,000& x12& 4,200
02 Z2=2=2494| 5,000 5,000 0
OA&EZ&HI KX Y| 5,000,000& *13] 5,000
SJla8, 5YIIsHE SHEHL 29 N2 (D8 20,000 26,000 6,000
A=ssE JIsXdH)
= 10,000
= 10,000
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SN eSS
B SEXC AR
o sEXNTIIEY (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 Od4dl 5,000 5,000 0
= 2,500
s 2,500
01 = LHA YI 5,000 5,000 0
OIHIE= At 5,000
—EZANEZHF Yl 5,000,000& 5,000
= 2,500
s 2,500
206 M= Hl 15,000 16,000 A 1,000
2 7,500
s 7,500
01 =8l 15,000 16,000 A 1,000
OZHIE= A 15,000
— =24 A 5 2 250,000 605 15,000
= 7,500
s 7,500
AXNEZ HFZH NJ(AASSEHANFIXNEMNY 2,200 0 2,200
E L HAl)
J| 2,200
206 TH 2 H 2,200 0 2,200
J| 2,200
01 24 2,200 0 2,200
OJIBEE A 2,200
~MNE3 EY Y ARA W27
100,000& 228 2,200
J| 2,200
AESANEER2Y 418,595 304,882 113,713
ASANEE & S22 29 131,639 225,923 A94,284
101 14l 44,639 71,923 N2T7,284
4 D12t ZE2EXNESES 44,639 71,923 N2T7,284
ASAHE Fptatg] 39,485
—Jlas 68,7203 x2H 200 27,488
—F5d 68,7203 x2H x40 5,498
—Qx=g 68,7203 x2H x 12 1,650
—4EBE= 34,634,000 *14% 4,849
OLX o 524 HSTH o=
68,7203 x3H 252 5,154
201 Let24d] 36,000 27,000 9,000
01 At 2teltl 13,000 4,000 9,000
OASAEE ZTHZ2 HH X
500,000& 20 10,000
Ooogolstslldg2gals 2
120,000& »253] 3,000
02 232gHl 23,000 23,000 0
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SN WBFsAD
M sEXNT AL 2S
Chelr AZAYEESY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OASANEE 24 & I =Xl
1,000, 000& *53| 5,000
OMUZANYE 24x2 o
1,200& x8,0004 9,600
OMEANEE B33 (HI,=5)
700,000& 123 8,400
206 M= Hl 17,000 1,000 16,000
01 =4l 17,000 1,000 16,000
OASAHE 2F XM 1,000,000& *53l 5,000
O0eolstslNEg2d M 480,000& »253] 12,000
207 & 51 OH & Hl 10,000 36,000 226,000
03 Al & 12HI 10,000 36,000 A26,000
OASAIHE MoH2et W 1,000,000 =102 10,000
301 LEEAZ 4,000 0 4,000
09 HALAHIX RS 4,000 0 4,000
ONEO0IBEIME Z2A==ZH 160,000& »253] 4,000
401 AIEHI L 2 CHYI 20,000 50,000 A 30,000
01 A& HI 20,000 50,000 230,000
OsteAEx & K2 10,000, 000& »24! 20,000
z2 228 24 286,956 78,959 207,997
101 @14 dl 96,956 38,959 57,997
04 JIZHHZ2XNESE S+ 96,956 38,959 57,997
OZYR Y ot 47 477
—Jlzs 68,7203 x2H x243 33,398
- =54 68,7203 x2H 482 6,598
— X< 68,720F x2H x 122 1,650
— 42 = 41,643,000 *14% 5,831
OZLRE 2AHY(MSB, A MExE)
68,7203 x30H x24 49,479
206 M= Hl 100,000 40,000 60,000
01 M= 4l 100,000 40,000 60,000
Z222F 22 NM(BX, 32,524 02,4
ES) 200,000& 255 x203| 100,000
405 XHobF S HI 90,000 0 90,000
01 AR ESFH S 90,000 0 90,000
OXNsEA WEI| 7 90,000,000 = 1CH 90,000
HH2IYZH (M=) 90,566 90,206 360
Jl2Z3dl 90,566 90,206 360
JlE&l 90,566 90,206 360
201 ¢er24l 50,306 45,146 5,160
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08 O

oY I°
= b

02

M 0z rior

0¥ M0 0%
>
fo
0
Ui
Q
=t

~
==

SA BB O () - MM - HES il

01 At 22l 44,052 44,052
ORNBH 1,831,000& 20X 36,620
O= &l 8,000& x20H 25! 4,000
OS Al Xt 286,000& x1CH*128 3,432

02 =224l 6,254 1,094
ORERS 2,220 x50 *43| 444
OXeEEE= 700,000 = 1CH 700
Oxt& R Al 2teltl 5,000,000 =1CH 5,000
OXtS XAl 110, 0002 = 1CH 110

202 04 HI 36,000 40,800

01 = LH o4 1l 36,000 40,800
Ozt ol 100, 000& 20 «12& 24,000
O 22 ¢ bl 75,0003 »20H «8 12,000

203 2 EFH| 4,260 4,260

PEER ST 660 660
O AL REAY| 33,0002 20 660

04 FN2IEHSFAH 3,600 3,600
ORAN2EIRFAHI 300,000& 123 3,600




